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int main( ) — :
{ void display( intn)
void display(int n); {
inti; Pla ) n=n%3;
int a[10]={ 10, 20, 30, 40, 50,60, 70, 80, 90, 100 }; printf( "%4d", n);
for(i=0;i<10;i++) }

display( a[i] ) ;
printf( "\n" ) ;
for(i=0;i<10; i++)
printf( "%4d" , ali]) ;
return0;

}
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# include < stdio.h >
float average(float array[10])

{

inti;

float aver, sum=0;
for(i=0;i<10;i++)
sum=sum-+arrayli];
aver=sum/10;
return(aver);
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int main( )
{ float score[10],aver; inti;
for(i=0;i<10;i++)
scanf(“%f”,&scorelil);
aver=average(score);
printf(“average is %5.2f",aver);
return 0 ;

}

123456788910
average 1s 5.50
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float average(float array[],int n) § # include < stdio.h >

{ int main( )
int i; { float score[10],aver; inti;
float aver, sum=0; for(i=0;i<10;i++)

for(i=0;i<n; i++) scanf(“%f”,&scoreli]);

sum=sum-+array]i]; aver=average(score,10);
aver=sum/n; printf(“average is %5.2f”,aver);
return(aver); return 0 ;

} }
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max-value(int array[ ][4] ) main()

{ int i, j, k, max ; { int
max=a[0][0]; a[3][4]={ 1,2,5,7,2,4,6,8,15,17,34,12};
for(i=0; i<3; i++) printf("maxvalue is %d \n “,

for(j=0; j (4; j++) max —-value(a));
if(array[i][j] >max)

max= array[i][j] ;
return max;
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void fun(char str[])
{ char m; int i, j;

for (i=0, j=strlen(str)—-1;i<®)  :i++, j—)

{ m=strli]; i
str[i]=@ ; str(j]
str[j]=m;

}

printf ("%s\n", str) ;
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